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General Instructions :

1.

Candidate must write his/her Roll Number on the first page of the Question
Paper.

Please check the Question Paper to verify that the total pages and total number
of questions contained in the Question Paper are the same as those printed on

the top of the first page. Also check to see that the questions are in sequential

order. [BlFE
[=]

Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

Answers for questions like matching, True or False, Fill in the blanks, etc., are to
be given in the Answer-Book. ERE

[=]
Write your Question Paper Code No. 56/HIS/2, Set [A] on the Answer-Book.
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Note :

All questions are compulsory and carry marks as indicated against each
question.
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1. Fill in the blanks of the following : 2x10=5
frfafaa o Tk s &t gfd e

(@)

(b)

(c)

(d)

(e)
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Program generated by the Compiler after translation is called

EE
FIITEER g1 3cqd et Tiome =1 31game el ¢ | “El%cg

Trackball is an device.

Wﬂ@?_%ﬁm

We can arrange data in ascending or descending order by using the
option in MS-Excel.

MS-Excel H B 221 ol TG I AIE HA H forehca w1 3T Hh
T R Tehd ¢ |

All the calculations in a computer are performed by the in CPU.

Fuft TUATE Tk e # CPU % 3R g frefed Ert 8

Workbook is a collection of

FhgE I T WUE B %‘3
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(f) is the extension of MS-Excel file.
MS-Excel HIEd %l THEEIH ¢ |

(g) OCR is used to convert scanned files into document.

OCR T YA Thd hl T2 FIEAl hl TEaEs | ufafdd s & fou & 2|

(h) .gov is the domain name code used for organizations.

gov S T IS B I e % for e o 31 B

() To rearrange the slides view can be used.

TTEES Sl gHAdferd 0 % foaw =g o seamre e e R

() option is used to raise the position of text in MS-Word.

forered =1 3T MS-Word ¥ foreft off aof shi =1d 29 s % fofu 2rar 21

2. State True or False : ¥x10=5
T A1 TToa fafegu

(a) Word processing software is an application software.

T TG AIFeeRR Tk STIIAN AiFear 2|

(b) To open a document, press Ctrl+N keys.
TS TEAAS @ieH o T Ctrl+N il 1 3T foham sar 2|

(c) All the calculations in a computer are stored in CPU.

Freger 1 weft AT Ho dio Fo # wufEd Bt B EIE

(d) CRT is a storage medium.
CRT = 3TN ¥R & foru foram S 2|
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(e) Internet Explorer is a software used to view a Web page.

FIAE TR | ol ITATT o UST hl < o [Ty, foperm STt 2|

(f) Tab stops can be set by user.
29 T IYANTHRAT g W TR ST HeRa 21

(g) Bluetooth is a wireless technology used for connecting electronic

devices. UE%LES
[=

SO qoheIoh AT ToTareif-eh ITHAUN bl SeA o fore 3w e e 2|

(h) Assembly language and machine language are also called low-level
language.

Irdaeft T 3R A 9 6 - e o e S R

() Keyboard shortcut for Format Painter in MS-Word is Ctrl+Shift+C.
MS-Word H Wil U=l IUFN i 7 Mk Foft Ctrl+Shift+C 7|

() ISDN stands for Integrated Services Digital Network.
ISDN & 9 &9 $2hIee afoes fefed Jeaw 3|
3. Define the following terms (any two) : 1x2=2

ffcTRaa wreal 1 qieToa e (S &) ¢

(a) System Software
foen airea EEE
e

(b) Hyperlink

L NED

(c) Scroll Bar
Thid o
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4. Write short notes on the following : 2x5=10
Frefaftaa w dtam feofomi ford -

(a) High-level language
TE-TTA AT ERE
&8

(b) Taskbar
e

(c) E-mail
-7

(d) Normal view in PowerPoint
A = qEtdiEe §
(e) Cell range
EREE
5. Differentiate between the following : 2x5=10

ffcTRaa o o9 7 w8 Y

(@) Sum() function and Sumif() function

Sum() BRE IR Sumif() B

(b) Outline view and Slide sorter view in PowerPoint
TS H IABLATEH = 3R FATRE HieX

(c) Print Preview and Print Dialog box in MS-Word
MS-Word 7 fiz fireg i fite st afaw S8

(d) FTP and SMTP
FTP 31T SMTP

(e) Input device and Output device

FYe feamey 3R em=eye feamm
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6. Answer the following :
ffafad & 3™ s

(a) Your class teacher makes timetable in MS-Word using Table. He is
unable to perform the following task. Help him to do so by

understanding the various text formatting tools :

()
(%)
(iit)
()

[l
=

1x4=4
Bold Text

Text Color

Margins Set

Font Face

3Tk heTT ALk HISHIEFE IS H AlfeTohl o STAN L Teh THI-ATieshl ST
IEd 21 9 = s % fou fofie ue wEu Sueen o gueE | eremd )
3d: 3T FHI-AqTART S H ITehl Heg i

(i) des TRz
(ii) TFZ FHR
(iii) AN B
(iv) i< HE
(b) Based on the following data, find the values of the expressions : 1x4=4
A B C D E F G H I
1 |Roll No.| Name | Hindi | English | Mathematics | Economics | History |Total|%
2 1 Ruchi 40 40 45 35 40
3 2 Juhi 45 35 40 30 40
4 3  |Priya 30 45 40 35 35
5 z Prasant 40 30 45 35 40
6 5 Mohit 45 35 30 40 45
7
(i) In cell H2 function as = SUM(C2 : G2) and copy the function in cell H3
to H6
(i) In cell I2 formula as = (H2*100)/250 and copy the formula in cell I3
to 16 .
(i) In cell H7 as = Max(H2 : H6) E'E‘
(iv) In cell I7 as = Max(I2 : 16)
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(b) TrfaRad tiwel & YR R STl & A J1d G

=

A B C D E F G
1| wHHh ™ sl IS Tt T zheem™
2 1 W 40 40 45 35 40
3 2 |SE 45 35 40 30 40
41 3 [T 30 45 40 35 35
5| 4 |uwm@ 40 30 45 35 40
6| 5 |#fEa 45 35 30 40 45
7

(i) T H2 = SUM(C2 : G2) 3R %awH sl Ifaferd H3 & H6 s-Td
(i) ¥ 12 = (H2*100)/250 3R Afdfci™ & &9 H 13 | 16 sH1¢

(][]

(i) ¥ H7 = Max(H2 : H6)

(iv) & 17 = Max(I2 : 16)
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